ZADANIE ¢.3
Vypocitajte a nakreslite priebehy namahania a urobte kompletni pevnostnu kontrolu.

01 g2 03 Fq ) My M, Iy I, B b h
Al q q - F - - - | 1/2 - S5t | 10t
A2 q q - F - - - | I/3 - S5t | 10t
A3 q q - F - - - | 1/4 - 5t | 10t
A4 q q - - - - - | 1/2 - 5t | 10t
A5 q q - - - - - | /3 - 5t | 10t
A6 q q - - - - - | /4 - 5t | 10t
A7 - - - F - - - | /2 - 5t | 10t
A8 - - - F - - - | /3 - 6t | 12t
A9 - - - F - - - I 1/4 - 6t | 12t
Al0 - q - - - - - | /2 - 6t | 12t
All q - - - - - | 1/3 - 6t | 12t
Al2 - q - - - - - | 1/4 - 6t | 12t
Al3 q - - F - - - I 1/2 - 6t | 12t
Al4 q - - F - - - | I/3 - 4t 8t
Al5 q - - F - - - | 1/4 - 4t 8t
Al6 - q - F - - - I /2 - At 8t
Al7 - q - F - - - | /3 - 4t 8t
Al8 - q - F - - - I /4 - At 8t
Bl q q - - - - - | /2 - 5t | 10t
B2 q q - - - - - | 1/3 - 5t | 10t
B3 q q - - - - - | 1/4 - 5t | 10t
B4 q - - - - - - | /2 - 5t | 10t
B5 q - - - - - - | I/3 - 5t | 10t
B6 q - - - - - - | 1/4 - 5t | 10t
B7 - q - - - - - I 1/2 - 5t | 10t
B8 - q - - - - - | /3 - 6t | 12t
B9 - q - - - - - | 1/4 - 6t | 12t
B10 q q - - - - - I 1/2 - 6t | 12t
B1l q q - - - - - | /3 - 6t | 12t
B12 q q - - - - - | 1/4 - 4t 8t
B13 q q/2 - - - - - | /2 - 4t 8t
B14 q q/2 - - - - - | 1/3 - A4t 8t
B15 q q/2 - - - - - | 1/4 - 4t 8t
Cl q q q F F - - 1/2 I I/2 | 5t | 10t
C2 q q q F F - - | I I 5t | 10t
C3 q q q F F - - 1/3 I I/3 | 5t | 10t
C4 - q - F F - - 1/2 I /2 | 5t | 10t
C5 - q - F F - - | I I 5t | 10t
C6 - q - F F - - 1/3 I I/3 | 5t | 10t
C7 q - q F F - - 1/2 I /2 | 5t | 10t
C8 q - q F F - - | I I 6t | 12t
C9 q - q F F - - 1/3 I /3 | 6t | 12t
C10 q q q - - - - 1/2 I /2 | 6t | 12t
Cl1 q q q - - - - | I I 6t | 12t
C12 q q q - - - - 1/3 I I/3 | 6t | 12t
C13 - - - F F - - 1/2 I /2 | 6t | 12t
Cl4 - - - F F - - I I I At 8t
C15 - - - F F - - 1/3 I 1/3 | 4t 8t




Cl6 | q - q - - - - 12 2 | 4t | st
C17 q - q - - - - | 1 4t 8t
Cl8 | q - q - - - - /3 13 | 4t | st
Zadané parametre:
g = 10000 N/m
F =20000 N
Il =1m
t =10 mm
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